Meal Out

This problem gives you the chance to: l 1
» use algebra to represent a real situation

* solve an algebraic equation
» check that the answer works

Ten friends go out for a meal. Dmm %W

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

Two-course meal
$12

The number of people who have three-course meals is x.

1. One of these equations can be solved to find the correct
value of x.

15x+12x =141 See our delicious choices!
15x+12(x -10) =141
15x+12(10 - x) =141
(15+12)x =141
15x+12y =141

Which is the correct equation? \51 +\)~( ‘O'X)‘\L“ \/ | 2

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that at you have tested your answers to see they are correct.

\f;:lﬁfg:zﬁ\\w\ (5. D +(2:3)=\4) S 2
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15x W= o |
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n S |

Number who had two-course meals 3 v .
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Meal Out T
This problem gives you the chance to: 2

» use algebra to represent a real situation
» solve an algebraic equation
* check that the answer works

Ten friends go out for a meal. @mm 77{%@

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

The number of people who have three-course meals is x. Two-course meal
$12

1. One of these equations can be solved to find the correct
value of x.

15x +12x =141 See nur delicinus choicesl
15x +12(x -10) =141
15x +12(10 - x) =141
(15 +12)x =141
15x+12y =141

Which is the correct equation? | Dx+ \Q\j 24\ A ( | >

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.
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Number who had three-course meals

7 /v | |
Number who had two-course meals 3 / - /
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Meal Out

This problem gives you the chance to: T3
» use algebra to represent a real situation

* solve an algebraic equation

« check that the answer works

Ten friends go out for a meal. 26%0‘5 %emt

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

The number of people who have three-course meals is x. TWO‘CO;rse meal
12
1. One of these equations can be solved to find the correct
value of x.

15x +12x =141 ( See our delicious choices!
15x+12(x-10)=141
15x +12(10 - x) =141
(15+12)x =141
15x+12y =141

Which is the correct equation? I 5)( 1 I Q [ IO*X)’-" I 4 \ / 2

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

Is@E@~12(0s7)
159t 123
105+ 30

Number who had three-course meals 7 j
Number who had two-course meals 3 .
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Meal Out

This problem gives you the chance to: ‘ I 4

* use algebra to represent a real situation
* solve an algebraic equation
» check that the answer works

Ten friends go out for a meal. Dmm W{emt

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

The number of people who have three-course meals is x. TWO'CO;rse meal
12
1. One of these equations can be solved to find the correct
value of x.
15x+12x =141 See our delicious choices!
15x+12(x -10) =141
15x +12(10 - x) =141
(15 +12)x =141
15x+12y =141

Which is the correct equation? \Sx 4 Ylx= \Y\ X O

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

d\ /‘{e (S, T 1R 2) =1
\ \\_\\ \L’/- 60 /

S (1

Number who had three-course meals 5 X O

Number who had two-course meals ) * . 8]
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Meal Out

This problem gives you the chance to: ' 5
* use algebra to represent a real situation '

* solve an algebraic equation

+ check that the answer works

Ten friends go out for a meal. Dmm %@0&“

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

The number of people who have three-course meals is x. TWO'CO;rse meal
12

1. One of these equations can be solved to find the correct :
value of x.

15x+12x =141 See nur delicinus choices!
15x +12(x - 10) = 141
15x +12(10 - x) = 141
(15 +12)x = 141
15x+12y =141

P

v 2

Which is the correct equation? 15 [_')_(_ \0 -"x): \A\

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

\5x+\®x) =\l 7
| Sx4+ 12.0- 12X = V4 | -loj P

— YaX ~
T Z o\ = = “ 3 O

3x+ V20 _\‘\4;“5‘ xX=1 e

3y = 2
e Y
S

Number who had thrg-course meas

7 l
Number who had two-course meals 3 ' . I
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Meal Out

This problem gives you the chance to: S 1
* use algebra to represent a real situation

* solve an algebraic equation
» check that the answer works

Ten friends go out for a meal. @mm %@W

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

The number of people who have three-course meals is x. Two-course meal
$12
1. One of these equations can be solved to find the correct
value of x.

15x +12x =141 See our delicious chnices!
15x +12(x -10) =141
15x +12(10 - x) =141
(15+12)x =141
15x+12y =141

Which is the correct equation? ‘ S X 1‘ ‘l( l@" X ) = l ,'H / Z

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

g |

Fre 1£% + Q00-§)= 111 ouess § ¢heeK

374 118) k{/a- (I )
Yo 4 26 =l

Number who had three-course meals

v
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Number who had two-course meals
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Meal Out

This problem gives you the chance to: 82

use algebra to represent a real situation
* solve an algebraic equation
* check that the answer works

Ten friends go out for a meal. @W %emt

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

The number of people who have three-course meals is x. Two-course meal
$12
1. One of these equations can be solved to find the correct
value of x.

5x+12x =141 See nur delicinus chnices!
15x+12(x=10)=141
15x+12(10 - x) =141
(Ls=+12)x=141
Bx+12y=141
Which is the correct equation? \Sx + 12 (J0- X ) =14} / Z

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

15x+12 I0-x)=1W

gz eno-x)zim )
12 \O-—xz = \‘Zl:x X

7 N 0

3= = zix

Number who had three-course meals

ANAN

Number who had two-course meals
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Meal Out

This problem gives you the chance to:

* use algebra to represent a real situation

» solve an algebraic equation
» check that the answer works

S3

Ten friends go out for a meal.

Some friends have three-course meals and the rest

have two-course meals.

The bill for all 10 meals is $141 dollars.

The number of people who have three-course meals is x.

1. One of these equations can be solved to find the correct

value of x.

15x +12x = 141
15x +12(x —10) = 141
15x +12(10 - x) = 141
(15+12)x =141
15x +12y = 141

Which is the correct equation?

|Dxt 2y=14]

Dinner Wlenu

Three-course meal
$15

Two-course meal

$12

See our delicious choices!

(1)

W

|
4N

2. Solve the equation and find the number of people who had three-course meals and the number of

people who had two-course meals.

Show how you figured it out and show that you have tested your answers to see they are correct.

Number who had three-course meals

Number who had two-course meals
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Meal Out

This problem gives you the chance to: 84

* use algebra to represent a real situation
* solve an algebraic equation
» check that the answer works

Ten friends go out for a meal. @W %e«u

Some friends have three-course meals and the rest
have two-course meals. A Three-course meal

$15

The bill for all 10 meals is $141 dollars.

The number of people who have three-course meals is x. Two-course meal

$12
1. One of these equations can be solved to find the correct
value of x.
15x+12x =141 See our delicious choices!

@@+@x -10)=141
15x+12(10 - x) =141 (¢ (2) 1210~ DA

(15+12)x =141
15x +12y =141

Which is the correct equation? (S HLU0-X) =14 1 / 2

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.
(5% 1< Zu - =y
GO choce , z
12(10-WY= 1AL R 15(P 2(10-P) = Wy J/

AZX T A B -
120; ‘\1 R ‘ ‘el 2R

VL0~ -3y ’

A9 - gy
33

e

Number who had three-course meals 3

Number who had two-course meals
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Meal Out S 5
This problem gives you the chance to:

» use algebra to represent a real situation
* solve an algebraic equation
* check that the answer works

Ten friends go out for a meal. @W %ew

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

The number of people who have three-course meals is x. Two-course meal
$12
1. One of these equations can be solved to find the correct
value of x.

15x+12x =141 See our delicious choices!
15x +12(x - 10) = 141
15x +12(10 - x) = 141
(15 +12)x =141
15x+12y =141

15% +|3\Q0~X) = 1’1‘/ /

Which is the correct equation?

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.
16X ZIS %4185  |Ex72[OF yoc
2 x921cg N 123 1212 %3 > 36

Tal (1)

Number who had three-course meals

/ /
3 v

Number who had two-course meals
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‘Meal Out

This problem gives you the chance to: S
* use algebra to represent a real situation

+ solve an algebraic equation

» check that the answer works

6

Ten friends go out for a meal. @W %emt

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

The number of people who have three-course meals is x. Two-course meal
$12

1. One of these equations can be solved to find the correct
value of x.

15x+12x =141 ' See our delicious choices!
15x +12(x -=10) = 141
15x +12(10 = x) = 141
(15 +12)x =141
15x +12y =141

Which is the correct equation? ISX+ | Z% //‘L” x>

O

2. Solve the equation and find the number of people who had three-course meals and the number of

people who had two-course meals.

Show how you figured it out and show that you have tested your answers to see they are correct.

S YH1y - (4!l
\> pHF

116 -
|5x:l‘!l'lzi / ‘
w «H/L‘b—

2z 1Y

11 57

YZ‘(’I

Number who had three-course meals ; (0 X

Number who had two-course meals LI *
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Meal Out

This problem gives you the chance to: 87

» use algebra to represent a real situation
» solve an algebraic equation
» check that the answer works

Ten friends go out for a meal. DCW W

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

Two-course meal
$12

The number of people who have three-course meals is x.

1. One of these equations can be solved to find the correct
value of x.

15x+12x =141 See nur delicinus chonicesl!
Bx+12(x -10) =14t
—15x+12(10—x) =141
(15+12)x =141
15x+12y =141

Which is the correct equation? 15 .3 ‘i"l\\' Z 14| (J)

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and sh at you have tested your answers to see they are correct.

5) 5 “
vs(S)xn \,‘35- . an)\

VYO

15(0) #V2LA)
138

Number who had three-course meals

NN\

Number who had two-course meals

Copyright © 2011 by Mathematics Assessment Page 3 Meal OUD

Resource Service. All rights reserved.

A
E




Meal Out

This problem gives you the chance to: 88

» use algebra to represent a real situation
* solve an algebraic equation
» check that the answer works

Ten friends go out for a meal. @c’m&m %@ﬂ“

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

Two-course meal
$12

The number of people who have three-course meals is x.

1. One of these equations can be solved to find the correct
value of x.

15x+12x =141 See nur delicious choices!

15x+12(x-10) =141
15x+12(10 - x) =141
(15+12)x =141
15x+12y =141

Which is the correct equation? ‘ 5)( + I Q ( ' 0 - X ) < l ‘ﬁ I ‘/ Z

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

7.5= (05 10§
+ 30 |
3:122 3@ RV (1)

O

Number who had three-course meals 7 ’
Number who had two-course meals _5 \/
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Meal Out
This problem gives you the chance to: 9

» use algebra to represent a real situation
» solve an algebraic equation
» check that the answer works

Ten friends go out for a meal. Dmm 77{em¢

Some friends have three-course meals and the rest

have two-course meals. Three-course meal
$15

The bill for all 10 meals is $141 dollars.

The number of people who have three-course meals is x. Two-course meal
$12

1. One of these equations can be solved to find the correct

value of x.
15x+12x =141 See our delicious choices!

15x +12(x - 10) = 141
15x +12(10 - x) = 141
(15 +12)x = 141
15x +12y =141

Which is the correct equation? &\5’\( \B\( = \L\\ > O

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

S\ =S ; S )
|2x = %\S) f\%m (l)

017 |
Number who had two-course meals 5 / . '
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Meal Out
This problem gives you the chance to: S 1 O

» use algebra to represent a real situation
* solve an algebraic equation
» check that the answer works

Ten friends go out for a meal. @mm %emt

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

The number of people who have three-course meals is x. Two-course meal
$12
1. One of these equations can be solved to find the correct
value of x.

x 15x+12x =141 See nur delicinus choicesl!

15x +12(x -10) = 141
~15x +12(10 - x) =14
Nt

% (15 +12)x = 141
15x +12y =141

Which is the correct equation? Isx+ (10 -X) =14 ‘/ Z

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

|5xm.(lo-><\=‘4' —S-X-:Z' ?*IE'-'-\DS./ 2

IBx tho ~12x =41 3 v 3%|2= 36

~|20 -120 X=% |
,k I

Number who had three-course meals

T
Number who had two-course meals ,3 / - I
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